
NSN 3825-01-041-5241
Squeegee Frame Assembly - Page 1 of 1

View Online at https://aerobasegroup.com/nsn/3825-01-041-5241

General Description:

Consisting of frame, squeegee, left p/n 105242, strip p/n 105313, strip p/n 105239, screw, cap 1/4x1-1/4 in., nut, unitorque 1/4 in., backup,

squeegee p/n 105240, squeegee p/n 105241, strip p/n 105244, attacing parts, screw, cap 1/4x1 in., nut, unitorque 1/4 in., squeegee 105243

Shelf Life:

N/a

Unit Of Measure:

--

Demilitarization:

No

https://aerobasegroup.com

